G3-Ma-Lesson 12

1. Molly draws a square with sides that are 8 inches long. What is the area of the square?

8 inches
| know that a square has 4
A 5 equal sides, so | can label
8 inches rea=: each side length on my area

model as 8 inches.

Ex8 =064 ‘ﬁ | can multiply the side lengths to find the area.

)

The greo of the square is &4 squore inches.

2. Each D is 1 square unit. Nathan uses the same square units todraw-a 2 X 8 rectangle and says that it
has the same area as the rectangle below. Is he correct? Explain why or why not.

4 units 8 units
2 uvnits
4 ynits ¥
{ can draw an
areéa model with
Areq = 4 units X 4 units Area = 2 units X 8 units side lengths of 2.
= 16 square units = 16 square units units and 8

‘units to

I can count the unjts to label the side lengths and reprr*]ese)nt

then multiply to find the area. Or, | can count ali of Nat anis "

the units to find the area. rectangle. | can
multiply the

side lengths to

find the area.
N S/

Yes, Nathan is correct. Both rectangles have the same orea, 16 square units. The rectangles hove
different side lengths, but when you multiply the side lengths, you get the some orea,

4x4=2x8=16
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3. Arectangular notepad has a total area of 24 square inches. Draw and label two possible notepads with

different side lengths, each having an area of 24 square inches.

1x24 . e _
2 %12 1 can list multiplication facts that equal 24

%8 to help me think of possible side lengths.
4x6

| can
choose 2

facts to

use as side
lengths for
my

3 inches . rectangles.
4 inches [ know the

8 inches & inches

unitis
inches

because
Area = 3 inches X B inches Areg = 4 inches X 6 inches the area is

= 24 square inches = 24 sguure inches in square

inches.

I can check my work by multiplying the side lengths to be sure the
area of each rectangle is 24 square inches.

4. Sophia makes the pattern below. Find and explain her pattern. Then, draw the fifth figure in her pattern:

I can see that the first figure has 1 row of three, the secand I'it follow the
figure has 2 rows of three, and the third figure has 3 rows of pattern by
three. Sophia adds 1 row of three to each new figure. drawing 4 rows

of three for the
fourth figure
and 5 rows. of
three for the
fifth figure.

S/

[IT]

4 figure 5% figure

Sophis odds 1 row of three to eoch figure. The fifth figure hus 5 rows of thrze,
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